Shaft Support SHF
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DIAMETER wlt|[t[rle[B]s BOLT BOLT [Kgl

SHF3 3 a3 (105 [24]20]32]ss M MS 0.013
SHF4 4 a3 [10|5[2e]20]32]5ss M4 MS 0.013
SHFS 5 a3 |10 5 |2e]20]32]ss M4 MS 0.013
SHF6 6 43 [10|s[2a]20]32]5s M4 MS 0.013
SHFS 8 a3 (105 [24]20]32]5s M4 MS 0.013
SHF10 10 43 (105 [24]20]32]5ss M MS 0.013
SHF12 12 a7 (137 [28]25[36(ss M4 MS 0.02
SHF13 13 47 [13| 7 [28]25]36]5s M4 M5 0.02
SHF16 16 s0 |16 8 [31]28[40][sss M Ms 0.027
SHF20 20 60 |20 8 [37]3a]as] 7 Ms M6 0.04
SHF25 5 70 |25 [10]a2[40]ss] 7 MS M6 0.06
SHF30 30 80 |30 |12]s0[a6|ea] o M6 M8 0.011
SHF35 35 92 |35 [14]s8]s0]72] 12 M8 M10 0.380
SHF40 40 102 [40 [ 16 [ 67|56 [ 80 12 M10 M10 0.510
SHFS0 50 12250 [19]83]70] 06| 14 M12 M12 0.89




